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UPSR 2008 FORECHST  Mesterifag)
MATHEMATICS

PAPER 1 : - Timme: One hour

This pcflper consists of 40 guesfions. Answer all the guestions. Each gusstion is followsada by four
opoficons. A, B, O aond D, For each guesiion., choose onfy one answer

1 ngch OoF tThe Tfollowing represaents F 1587 + 69«3 =
3 = B 4GS L=t i s
45 millicon? ) B 1 704 o o
A 4 035 ODO 4 350 000
B A QS0 00O D 4 500 000 8 Corwvert 1.2 1o a mixed numioern
A 1L < 1L
. 61 s -ﬂi _— =2 Fa
i ] B 11 D 1L
A 224 < 0.7 3 5
B 1.7 D 024
o 4l 451 o
3 Calculcte &2 = 75 sen. Round off the answer £ 5
o the nearsest ten rincgit. 3 o
A RMAD C RMMA4B A 855 < P55
B RMNAS D RMS0O o> 11
B EED D ?20

4 Dicgrarm 1 shaows thwweo nuarmibber cards,

42 145 I i 807 540 J| 10 Dicgram 2 shows a nurmioer limne.

1 E 1 ™
* + -

Dricgrarm 1 0.1 e Q.18 o2

Colculicate the differsncs Iin valuse betwean
the two underdined digits.

Dicigraarn 2

A 7O 00D C 78 000 The walue of ¥ is
B 78 000 D 72 D0 A 012 < O.1Aa
B 0O.125 D 015
S Al the following solids hawve curved faces
except 4 2
A pyrcarmnic C O corne A i
B « sphers D a cylinder A 28 o 104
B 84 D 124
& The wvolumnme of a bbottle of orange juice is
= 12 300 000 + 2.4 milllon =
3.5 £, Kar Meng drimks r=y ofF it His tewo friends A 2 34 rrililion . — 2.7 o
drimbke 250 mmf of the orangs juice sach. The B 2.43 millicon D 5.4 rmillion
volume, in md . of the remaining orangs juice
i 1 200 13 Calculate 'Ii + % Sihve the answesr in
B 1 3DD Percent
< 2 300 A 10% Lo %
D 2 500 B 130% D 28%



14

15

16

17

Diagram 3 shows three number cards.

LPl [e] [32]

Dicagram 3

The average of the thres numbers is 28 and

the values of P and & are equal. Which of

the following are the comrect sfeps to find

the value of P?

A Add 28 and 32, Then. divide the sum
by 2.

B Subiract 28 from 32,

C Subitract 32 from the product of 28 and 3.
Then, divide the difference by 2.

D Muliply 28 by 3. Then. divide the product
oy 2.

bus reaches
One day, the

MNormally, Azman’s school
his house ot 7 :05 a.m.

school bus was % howur late. It recached his

house ot

A O710 hours
B O715 hwours
< 1915 hours
D 1930 hours

Syaril has RMSOD, After he buys & botties of
a drink, he has RM32.50 left. Find the price
of each bottle of drink.

A RRh1.45E5

B RM1.75

C RMT0.50

D RM31.50

Diaogram 4 shows a bag of wheaot flour
bought by Mrs Lee.

Dicgram 4

She repacked the wheat flour in equal
amounts into 20 small packets. The mass.
in Q. of each packet of wheat flour is

it

1%

20

Dicgrarm 5 shows o cuboid.

Bcm
“ Som
S5 cm
Dicigrarm S

The height of the cuboid is reduced to form
a cube, The difference in volumes, in cm?,
baebwesn the cuboid and the cube is

A3 C 75
B 27 D 175
Teacher: State a similarity betwesen o
cube and a cuboid.
Eddie : Both howve 12 edges.
Fuad : Both hawve & faces of the same
size.
Sary : Both hawve 8 wvertices.
gt=1=Ta : Both have no curved faces.

Based on the abowve conversation, who
gava the comect answear?

A Only Eddie and Fuad.

B Only Eddie and Gary.

C Only Eddie, Fuad and Garny

D Only Eddie, Gary and Helen.

Diagram & is a pictograph showing fthe
numiber of pupils who aoftended a quiz
competition. The number of pupils from
school §is not shown.

schoolP |% ¥ %
school@ |% %
SchoolR | %
School §

? represaents 20 pupils
Diagram &

If the average riumber of pupils from each
school is 50, find the number of pupils from
school 5.

S Mexsireriine
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21

25

The difference in age bebwesn Molly aond
her yvounger brother s 34 months, F her
vounger brother is 186 yvaars old, find Maolly's
age.

A 13 yvears 2 monihs

B 15 years 4 months

< 18 yvears 10 months

D S0 years

Zaidi drowve from home 1o a town which is
40 km away from his house, His car broke
down after fravelling 16% of the jourmey
Hovw far was he from his destination?

A G4 kn C 33850m

B &4 km D 33 500mM

Driagram 7 shows three pieces of rope.

A% cm

Dicgram 7
The total length, in m. of the three pieces
of rope is
A 19 3
B 2% D &5.625
—3— hour baefore 0115 howrs is
A 12 : 30 a.m.
B 12:30p.m,
<11 30am,
D11 :30p.m.

Table 1 shows the lengths of four ribbons.

Ribbon Length
L 306 mm
i 30.6 cm
A 30 cm 4 mm
n 3.6 cm

Table 1

The ribbons with the same kength are
A Kand L onhe

B Kand A onby

C A and A onby

D K. L and A oy

26

27

28

1

Morida bought 5 kg of rice. £y of the rice

was used and the rest was packed into
15 packets of equal mass. What is the mass,
in g, of each poacket of rice?

A 025

B 375

< 250

D 375

Table 2 shows the number of cranges in
boxes P, & and 2

BoXx P o 54
Number of oranges 51 84 fata

Tabie 2

Calculate the number of cranges to be
taken out so that the average number of
oranges in each box is &1.

A 37

B 27

c 17

D 10

The price of o bofie of apple juice is
RM2.20. For each purchase of 8§ bottas of
the apple juice, G discount of RMI1.50 is
given. Mr Gan buys 45 bottles of the apple
juice. The total amount that he has to pay is
A RMI112.50

B RMI111

C RMI10S

D RMI0O

Dicagrom 8 is a pie chart showing the grades
cirained by 40 pupils,

r- B
200% 35%

&

Dicgrarm 8

Calculate the total number of pupils who
scored grade A and grade B,

h o Mestreriing
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30

31

32

A bus left Melaka ot 10:08 pon. for
Puiau Pinang. Usually the journey took
?% hours but the bus reached Pulau Pinang
15 minutes earlier on the next day. At what
tfimea did the bus recch Pulau Pinang?

A 5:35am,

B 5:50am.

C &H$:05am.

D &:35am,

The bar graph in Diagram 9 shows the
hobbles of a groue of puplls.

M-+~ o
g compmgl T
§ mecame T T T

Swimuming I ] | O |

o 1o 2(:304[:51: S0 70
Mumicar Oof pupis

Diagram 2

The number of pupils who like singing is 4;"—
of the toltal number of pupils who like
swimming and camping. The number of

puplls who ke drowing is

A 10 < 30
B 20 D 40
In Diagram 10, PRV and RRSTU are sgquares.
o
10 em I g
P
e e B
VéomU T
Dicigram 10

The perimaeter of the whole diagram is
S0 cm. Find the parmeter, in crm, of the
shaded region.

A 30

oOw
58X

33 Diagram 17 shows a guesfion on a flask

card.

27.96 % 9P = ]

Dlagram 11

Which of the following is the best estimated
answer to the question?

A 2401 to 2 &S00

B 2401 tc 2 80O

< 2 801 to 3000

D 3001 1o 3 200

Diagram 12 shows a combined shape
which consists of a rectangle. a right-
cangled triangle and a square.

&S om
8cm
Diagram 12

Calculate the area. In cm?, of the comblined
shape.

F )

B 74

C 80

D 95

Diagram 13 shows o combined solid

consisting of two cuboids. P and . and
a cube 7

Scm

Iz <

Jom
Biagram: 1.3

Calculate the total surface areda. in cme, of
the combined solid.

s ¢ Mesrerineg
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36 Diagram 14 shorws the selling price of a type
of apples,

Diagram 14

Mr Loo buys some gpples and pays with
Two RMIO notes. The changs he recaivas s
RMB.75. How many apples does he biuy'?

A 20 C 15

B 15 D 10

37 Dicgram 15 shows o combined solid
consisting of two identical cubes and
a cuboid,

8cm

12 o

Dicgram 15

The volume of one of the cubes is &4 cm.
Calculate ths total vwolume, in om?, of the
combined solid.

F_ Lo

B 24

3B Supilan’s salary is EhM2 200. He uses 8% of his
salary to pay his telephone bil. Then, he uses
5% of the rermaining solary 1o buy hwo shirts
of the same price. Each shirt costs
A EMT101.20
B RMEH.OO
< RMS0.S0
D RM25.30

Answer Quuastions 39 ond 40 Bassd onr the
ofe chort bedonas

The pie chart in Diagram 16 shows the numiber
of maembears of 100 farilies.

3 memibers 4 rmannbers
o S
o , 5 rmeanmilsais

& marmbears
35%

Diagram 145

39 What is the mode?
A 4 members
B & members
< A%
D 35%

40 Calculate the mean number of members in
each farmily.
A 435 memiters
B AA mambears
445 members
D 4.5 membars

 MessearMimne
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PAPER 2 Tme: Forty minutes

This paper consists of 20 guesfions. Answor all the guesfions. Write your answers In the spaces
provided in this poper Show your working. ft rmay help vou fo get marks.

1 Round off &7 583 1o the nearaest ten thousand. (1 rrarkd
1
f1]
2 429 33 = (1 rark)
2
[1]
3 (327 +48) =+ 15 = (1 mark)
A
il
4 Convert 3% to a decimal. (1 rmand
4
[1]
1 _ -3 _
5 45 2]0 = (2 marks)
5
=]
& 103 -2704 = _ ’ (1 rmcrkd
’ e
_ MesrerMhine
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7 £y [ I i Dlagram 1 k a bar graph showing the number
% ol [ of mangoes in 4 boxes. A total of 39 mangoes
sal—E : [ in the boxes are rotten. And the percentage
£ T ; i of riotlen mangoes in the 4 boxes. (2 rmcrks)
.-g m -
2 - fie) -
C—a B8 © O = o
[Z] Dicgram 1
8 Calculate 38.5 kg + 40 040 g. Sivea the answer in kg. (2 rrcrks)
8
[2]
9 RMI12 + M3 A0 + 85 sen = (2 marks)
9
[Z]
10 Diagram 2 shows two dates. Colculate the
duration, in montihs and doys, bebween the
e days. (3 rmarks)
10
[3] Clagram 2
11 Farid runs 2% krn and Kamardl rans 780 m. Aind the difference In distance. In m,
1" run by both of them. 2 rncrks)
[2]
12 648 - 6 x 5= : 2 marks)
12 i\ e ot
MexssrerHhne
[Z] '
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13 Diagram 3 shows the selling price of a palr of
shoes. If the criginal price of the shoes is RSO,
what is the parcentage discount given?

(2 marks)

13

- 14 P 12 cm o Diagram 4 shows a rectangle PERS and

a triangle SRT. PST is a straight Iine. The length

5om of 5T Is equal to the length of &R Calculate
& ” the areq, in cm?, of the shaded region.

(3 marks)

14

Dicgram 4

s RMI10 3 Tabla 1 shows the number of pieces of each
currency note, Find the total amount of the
RIS 2] money. {2 rarks)

RM1 14
Table 1

15

BNETT EA N

16 Diagram 5 shows the time when Liza arrbred at
a concert. The concert already started
—:33— hour earlier. At what time did the concert
start? Sive the answer in the 24-hour system.

(2 rmicrks)

Diagram S
16

Mexssrerine
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17

17 Container F and conlainer & contain 3.5 ¢ and 430 me of water respectively:
Half of the water In confainer P = pourad into cantalner @ Calcukaie the new
voalume, i md, of woater In contalnesr & {3 k)

2om acm

Diagram & shows a solid consishing of a culbe

Diagram 7 shows the masses of o durkan and
& oranges. All the oranges have the same
mass. Calculate the difference In mass, In Q.
betwaen the durion ord on orange.

(3 rmarks)

3]

Tha Incomplate Table 2 shows the heighls of
fowr pupils. The average helght of the four
pupils I 1.57 M. Crwis and Daud have the
same helght. Fnd Daud™s height. in cm.

{3 marks)

Mexssrerhneg

Training Academy



SEE YOU @
UPSR INTENSIVE

Jun , ulangkaji darjah 4
Julai, Ulangkaji Darjah 5
Ogos, Ulangkaji Darjah 6

NMoasterMind

Training Academy




—

+UPSR

 *INTENSIVE

-




R with

P LITNINUTE VIS
@m::mm Q Rl [ntensive Class

ey & fun GO% output . Top Studen

UPSR INTENSIVE PMR INTENSIVE  SPM INTENSIVE

in Std 4 Revision Jul Form 1 Revision
Stdﬁ Revision Aug Form 2 Revision
_ { s SBP Form 3 Revision

LIMITED SEATS

T T VI =R 035024 6980 (USJ)
MasterMind QW 00505 00
Training Academy S




MeasireArimn e

Training Acadernt__l

KELAS INTENSIF
—REVISI (

UPSR

( 3 bulan, 4 sub)

e Jun- Revision P4
e Jul - Revision P5
e Aug- Revision P6

PMR

( 3 bulan, 6 sub)

e Jul - Revision F1
e Aug- Revision F2
e Sep —Revision F3

RM

837

(3 bulan, 5 sub)

e Jul -

Revision F4

e Aug- Revision F5
e Sep- Past Year

papers

RM




—

+UPSR

+SEMINAR

-




THANK YOU

Untuk keterangan lanjut

Sertailah

UPSR SEMINAR
(0OGOS)

' M . Hubungilah
MQS'!‘EI(M nd, 03-7727 2305 (damansara Utama)

- Training Academy 03- 8024 6980 (USJ 9 )




DAPATKAN

\%
KERTAS RAMALAN%@@';\

* Kertaé
Ramalan
2010

LIMITED SEATS

MasterMind
Training Academy




rleysi-eAAraion e www . MasterMind . My
= - 03-7727 2305 (DU)
Training Academuy - 03-8024 6980 (USJ)

KEM SEMINAR

—Kertas Ramalan (1 minggu)
- 2d 1n at Dusun Eko ,(Janda Baik)

USUAL RM250




Take a good rest before your exam and
be well prepared!

MasterMind

Training Academy




SEE YOU

www . Tip peperiksaan.

com
_Mgg.‘fm

ng Academy




